H & 0l & AHS B Ml A

20233 = =0ilah LB MEZ T

A HEB M

33 NGEHM 2483t
=2 NSFM 243t =8 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
MEA T 20,065,246 21,471,277 A 1,406,031
= 267,39%
== 7,091,331
Al 12,706,520
NSBH -3t 19,186,062 20,940,150 1,754,088
= 8,670
< 6,978,574
Al 12,198,818
KSBN datAld =& 18,489,039 17,631,834 857,205
= 8,670
== 6,978,574
Al 11,501,795
Sty 32,280 38,380 26,100
201 2= 2,120 2,120 0
01 AtR2t2lt] 2,120 2,120 0
OSIIZ2UH A us| A=
400,000 %12 400
O=Jt2UH =& 7 30,0003 243 720
OSItets & &l 2N &8 222 A
- 1,0002 *1,000H 1,000
301 2= 30,160 36,260 26,100
11 AALEEIXIE S 1,360 1,460 A100
OS2II12UH & AHIKHEH 2t 3
8,000 *50E *12 400
OSItZLIH 22 F4x=E
20,0003 x24H+23] 960
14 0Bt 2a3 28,800 34,800 26,000
O2JI2LH 24z
50,0002 x24H*23| x 12 28,800
A gdst N 28,900 0 28,900
= 8,670
s 6.069
Al 14,161
301 22N = 28,900 0 28,900
= 8,670
= 6,069
Al 14,161
4Bt 2as 28,900 0 28,900
OoxebAg A gdat X3
28,900,000& 28,900
= 8,670
= 6,069
Al 14,161
KNSEH AR =& 61,000 16,700 44,300




A HEB M

M NAEZH &4dst
Selr XNSZM 24313 F=A (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
201 Let2| 1,700 7,400 AB, 700
01 Ar2eltl 1,700 7,400 Ab,700
ORrsSdalIMFls| 3|9 EHAH
100,000& *7 B *13] 700
ORESMEHRS 3|0 AL
100,000 102413 1,000
203 QP =AM 9,300 9,300
EESSEEESIT 9,300 9,300
ONAZH Eas 22z
9,300,000& 9,300
207 AR LI 50,000 0 50,000
01 eipgo| 50,000 0 50,000
OMREHBIAIY T AR
50,000,000 50,000
2HIA 23S 33,949 34,099 A150
201 B2 AY| 12,749 13,199 A450
01 Al2z2lH| 4,000 4,450 NA50
OAHINEMACIAS) 519 EASE
100,000 *10H*32| 3,000
OAHIAF TloHoE 222 M
1,0002 *1,0000H 1,000
02 33244l 8,749 8,749 0
OA4T0l S MR QY2 Ba SRS
e_l2l) 8,749
— ok 5502 %10,000H 2~ 5,500
-3 2,650 *613 2 +23] 3,249
301 LPENZ 1,200 1,200
14 J|EI2 &3 1,200 1,200
O34l detg 400,000 34 1,200
307 gI2Hol 20,000 19,700 300
02 QIZHAAAIHE X 20,000 19,700 300
OXHIRESEHHM (SH=220152 & AIXIS]) X
& 20,000,000& 20,000
LA ZOIXE 4,360,800 1,415,735 2,945,065
201 L2 | 2,900 2,500 400
02 Z324Hl 2,900 2,500 400
OREAN SARSSSZUHSFHH &
g3 2,900,000& 2,900
306 == 3,948,000 1,400,000 2,548,000
01 293 3,948,000 1,400,000 2,548,000
OZIRIZESHH ==
2,000,000,000& 2,000,000
OUAHEHIXR EHE
1,948,000,000& 1,948,000
307 212+01 A 400,000 3,335 396,665




2A:

HEZ M

33 NGEHM 2483t
Selr XNSZM 24313 F=A (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
08 OIXtE2& = 400,000 0 400,000
O2480 SHES 0IXEA
20,000,000, 0002 #2%x 1 400,000
401 AIEHIX R0 9,900 9,900 0
01 A28l 9,900 9,900 0
ORIA SL=ESSSTUH=FAH 2HEE
=t 9,900,000& 9,900
SN ot e 75,180 6,382,900 26,307,720
< 29,040
Al 46,140
101 @124H| 33,000 33,000 0
= 16,500
Al 16,500
MU IIRINZZENSES 33,000 33,000 0
ODHAIH 2128| 2,750,0003x1&+12& 33,000
= 16,500
Al 16,500
201 et 3| 42,180 199,900 A157,720
< 12,540
Al 29,640
01 At2t2lt] 27,100 175,900 148,800
ORFA XASHSSAAS]| 3]0 &g
100,000 *7& =33l 2,100
OF&HO0l 243 24
15,000,000 15,000
OJtds 29HIE 10,000,000& 10,000
== 5,000
Al 5,000
2 352484l 15,080 24,000 A8,920
OJIYH ot RERZ 15,080,000& 15,080
= 7,540
Al 7,540
NSAgaEd LS AE 13,886,930 9,600,000 4,286,930
=S 6,943,465
Al 6,943,465
301 Eet2 NS 13,886,930 9,600,000 4,286,930
== 6,943,465
Al 6,943,465
14 JIEt2 = 13,886,930 9,600,000 4,286,930
OXNGAIgS S SN2 A 13,886,930
—LRHRIH QIMIEIE(6h)
8,927,312,000& 8,927,312
= 4,463,6%
Al 4,463,656




A HEB M

33 NGEHM 2483t
=Rl NSEH 23t =2 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—LURHRIA QIHIEIE(10%)
4,959,618,000& 4,950,618
= 2,479,809
Al 2,479,809
SSHIEY =23 10,000 85,151 AT5,151
201 et 3| 10,000 5,000 5,000
01 At 22|l 10,000 5,000 5,000
O3stigdy 24| 10,000,000& 10,000
dSAE g4z g 7= 697,023 3,308,316 A2,611,293
HEANE 2435t 109,606 69,606 40,000
201 er23 | 69,606 69,606 0
2 352484l 69,606 69,606 0
OXSAIZ(BMA) DUXJALH Z222 69,606
—HIIe3 4,250,067 *12& 51,109
—& - otk Rs 3,082,671 +62 18,497
207 AR 40,000 40,000
01 H7ESH] 40,000 40,000
ORMMHELSNY 88 27ES
40,000,000 40,000
222N SH(IEFERLY) 450,000 920,000 A470,000
403 AXIEHMSAH=0ld 450,000 920,000 A470,000
02 SIS0t = A P E A I 450,000 920,000 A470,000
ORHMSAE S 2AZEANE S (2R
<) 230,000,000& 230,000
OAIZAAAE Zo2LEAE SL(2XE
<) 220,000,000 220,000
SHMLAE OAOIE EXIALY 137,417 0 137,417
401 AlEHIZL SO 137,417 137,417
01 Al&H| 137,417 137,417
OFTMLAIE OAHIOIE AAIEAHESSHI
137,417 ,000& 137,417
Il 018 &zt & JHAQHM 2t 807,955 463,018 344,937
= 258,725
= 12,757
Al 436,473
O X gelst 0l= 807,955 463,018 344,937
= 258,725
= 12,757
Al 436,473
W PGB PNEE=, 138,000 56,160 81,840
201 eer23y| 4,000 0 4,000
01 AtR2t2|HI 4,000 0 4,000
OOUXIZ(ATHYNUX 28) & 822
NES 1,000 *4,000% 4,000




A HES M
¥ WX ol ge

%‘
o
0
(o
0

s oAl gelat 0
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 54,000 54,000
02 2B YA HE L 54,000 54,000
O THMAU X2 S (=HX ) ALY
1,000,00024+5474 72 54,000
401 AIEHI L2 TH] 80,000 0 80,000
01 Al&H 80,000 0 80,000
OMTHAOI AT DA (SLFINET L)
80,000,000 80,000
ATHANU X SSSXI2A 374,791 0 374,791
= 224,650
Al 150, 141
307 elztol & 374,791 0 374,791
= 224,650
Al 150, 141
02 2IZHBYAIHE £ 374,791 0 374,791
OXMHAOIH X S=E XA
374,791,000 374,791
= 224,650
Al 150, 141
OILIBHZZ 2SS XA 55,314 55,314 0
= 27,657
Al 27,657
307 glztol & 55,314 55,314 0
= 27,657
Al 27,657
02 2IZHBYAIHE & 55,314 55,314 0
ODILIN & X3 A 2,000 %27,657W 55,314
= 27,657
Al 27,657
FHAAS X=X 50,800 45,800 5,000
= 25,400
Al 25,400
401 AlEHIZL SO 50,800 45,800 5,000
= 25,400
Al 25,400
01 Al&H| 50,800 45,800 5,000
OAt2lSXIAIE LEDEE WA
50,800,000& 50,800
= 25,400
Al 25,400
TAIDEA B2 RI2 A 104,200 242,344 A138,144
== 52,100
Al 52,100
402 2I2E X201 & 104,200 242,344 A138,144




FA BN
M WX ol &elsh Y JtAeHE 2t
el iUl galat 018 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 52,100
Al 52,100
02 QI X2 AL EE(0IETHE) 104,200 242,344 A138, 144
OZAITIA HHRIY KRS
104,200,000 104,200
= 52,100
Al 52,100
LPGEII ALt AIEHE AN 15,750 10,200 5,550
= 7,875
Al 7,875
403 AXIEHHSAH=201H 15,750 10,200 5,550
= 7,875
Al 7,875
02 SI12S0ItH etk == 2 EF A I 16,750 10,200 5,550
OLPGEI| AFEItE AIEHE AL
15,750,000& 15,750
= 7,875
Al 7,875
284 FEIGAMY SEX 2,300 2,400 2100
307 @120l & 2,300 2,400 A100
02 QB AANEER 2,300 2,400 A100
OgHAFHIAAS SEXE
2,300,000 * 104 2= 2,300
LA FEISAI J|Z2X&H 800 800 0
= 800
307 @I2to| & 800 800 0
= 800
02 2B YAIHE X 800 800 0
OgdAFHISAIY JI2 X2
800,000 *17H A 800
= 800
ZEUHl OUXI=X XA 66,000 40,000 26,000
= 33,000
Al 33,000
403 AXIEHMSAH=01d 66,000 0 66,000
=S 33,000
Al 33,000
02 SVI2S0 U H=E P EAIEI 66,000 0 66,000
O=gEUEl HIUXI=X KIJAAS
66,000,000 66,000
[ 33,000
Al 33,000
HH2LZH(MEZH D) 71,229 68,109 3.120
Jl=23sl 71,229 68,109 3,120




FA BN
A HYRAZH(MSZHL)
=l Jl=3H| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Jl=3H] 71,229 68,109 3,120
201 er23 | 36,789 36,709 1,080
01 At2teltl 22,680 21,600 1,080
ORANEgII123H| 22,680
—2et=SHl 40,0002 x21H* 122 10,080
—=&l 50,0002 x21& 128 12,600
2 S52g4l 14,109 14,109 0
OR8ER=s 14,109
—get 4303 +6752x 122 3,483
—S 2,5302*35024 123 10,626
202 04| 30,240 28,800 1,440
01 2K 30,240 28,800 1,440
OgRFZ|20d|
120,000 x21E 122 30,240
203 HR=H] 4,200 3,600 600
M EA2ER=AH 4,200 3,600 600
ORNEgE =AY 350,000& * 122 4,200




